
HAZIRLIK
EVRESİDİR.

DNA KENDİNİ
EŞLEYEREK
SAYISINI 2

KATINA 
ÇIKARIR.

ENERJİ ÜRETİMİ,
PROTEİN

SENTEZİ VE
ORGANEL
SAYISININ

ARTIŞI
HIZLANIR.

KROMOZOMLAR
SENTROZOMLARIN
OLUŞTURDUĞU İĞ

İPLİKLERİNE
TUTUNURLAR

KROMATİN
İPLİKLER KISALIP
KALINLAŞARAK

KROMOZOMLARI
OLUŞTURUR

ÇEKİRDEK
BÖLÜNMESİNİN

BAŞLADIĞI
EVREDİR.

KROMOZOMLAR 
EKVATOR

 DÜZLEMİNE
 DİZİLİR.

KARDEŞ
KROMATİTLER

İĞ PİLİKLERİ
SAYESİNDE

FARKLI
KUTUPLARA

ÇEKİLİR

HÜCRE 
ORTADAN

BOĞUMLANMAYA
BAŞLAR
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İKİ KARDEŞ
KROMATİTTEN

OLUŞAN
KROMOZOMLAR

EŞİT OLARAK
DAĞILIR

BOĞUMLANMANIN
TAMAMLANMASIYLA

İKİ YENİ HÜCRE
OLUŞUR

ÇEKİRDEK VE
ÇEKİRDEKÇİK

ZARI ERİR.

ÇEKİRDEK VE
ÇEKİRDEKÇİK

ZARI OLUŞMAYA
BAŞLAR
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